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Internal Assesment Test —2

Sub:Design of RCC & Steel Structures

Code: 15CV72

Date:15/10/2018 Duration: 90 mins | Max Marks: 50 | Sem: VII | Sections:CV (A & B)

Answer any one questions. Good luck!

Marks

Design a combined footing for two columns of size 300mm x 300mm and 400mm x 400mm
subjected to loads of SOOKN and 700KN respectively. The columns are spaced at 3.50m
C/C. The width of the footing should be restricted to 1.50m. Take SBC of the soil as
150KPa and use M25 concrete with HYSD bars.
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Design a Cantilever type retaining wall to retain an earth embankment of 5m high above the
ground level. The density of earth is 18KN/m’ and the angle of repose is 30°. Thel
embankment is to be horizontal at the top. The safe bearing capacity of the soil can be taken
as 200KPa and the coefficient of friction between concrete and the soil is 0.50. Use M20)
concrete and Fe415 steel.
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Sub: Design of RCC & Steel Structures
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Date:15/10/2018 Duration: 90 mins | Max Marks: 50 | Sem: IV | Sections:CV (A & B)

Answer any one questions. Good luck!

Marks

Design a combined footing for two columns of size 300mm x 300mm and 400mm x 400mm)|
subjected to loads of SO0KN and 700KN respectively. The columns are spaced at 3.50m
C/C. The width of the footing should be restricted to 1.50m. Take SBC of the soil as
150KPa and use M25 concrete with HYSD bars.
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Design a Cantilever type retaining wall to retain an earth embankment of Sm high above the|
ground level. The density of earth is 18KN/m’ and the angle of repose is 30°. The
embankment is to be horizontal at the top. The safe bearing capacity of the soil can be taken
as 200KPa and the coefficient of friction between concrete and the soil is 0.50. Use M20)
concrete and Fe415 steel.
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